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O 0O O /*Vertex structure */ typedef struct { double x, y. }
vertex . OO0 000000000000 O0OOOOOOOO
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000000000 /*Vertex list structure polygon */ typedef
struct { int num_vertices. /* Number of vertices in list */ vertex_t
*vertex. /* Vertex array pointer */ } vertexlist t. 0 0O 00O 0O 0O 0O O
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/* bounding rectangle type */ typedef struct { double min_x, min_y,
max_Xx, max_y. } rect_t. /* gets extent of vertices */ void
vertices_get_extent (const vertex_t* vl, int np, /* in vertices */ rect_t*
rc /* out extent*/ ) {iint 1. if (np > 0){ rc->min_x =rc->max_x =



vI[0].X. rc->min_y =rc->max_y = VI[0].y. }else{ rc->min_x =
rc->min_y =rc->max_X =rc->max_y = 0. /* =0 ? no vertices at all
*[ } for(i=1. 1 { if(vI[i].x min_x) rc->min_x = vi[i].x. if(vi[i].y
min_y) rc->min_y = VI[i].y. if(vI[i].X > rc->max_X) rc->max_x =
vI[i].x. if(vI[i].y > rc->max_y) rc->max_y=VI[i].y. }}0 0 0 0O O
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